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Instructions:

1} Attempt all questions compulsory.

1) Question No. 1 to 5 are objective type questions which contain one
sentences answer, match the column, choose the correct answer, fill in the
blanks and true/false question etc. Each question carries one mark.

iii) Question no. 6 to 10 very short type question each 2 marks. Word limit 30
words. :

9 (E/H)

www.a2zsubjects.com

1 (P.T.0.)

www.a2zsubjects.com

wod's)fqnszze mmm

wod's3Rfgnszze mmm



wod's)dfgnszze-mmm

wod's3Rfgnszze mmm

www.a2zsubjects.com www.a2zsubjects.com

http://www.a2zsubjects.com

a2zSUBJCTS.COM A-439 (E/H)

iv) Question No. 11 to 14 short type question each 3 marks. word limit 75
words.

v) Question No. 15 to 21 long type question each 4 marks word limit 120
words.

vi) Question No. 22 to 26 long type question each 5 marks, word limit 150

words.
1) e fapey g [1x5=5]
(&) A9 W AN Y A B @ Dew -
(i) Y& Gi) yoft
(iii) @ar (iv) s
@ YRR Wow ¥ e F Ay o e B &
(i) oft s & (i) T I A
(it) T ST (iv) s wify srare ¥
(@) 0@ WEER & IRRS B 39 IR BT TrAA T FE W) e affe
R ;S I T E a2zSUBJCTS.COM
(i) 10% (i) 5%
(i) 8% | (v) 7%
@ ofRaRa sl 7 ol @ sxaraRa far wmar & —
(i) s @ m H (i) ¥ @n A

(i) RIS Fh @ ¥ (iv) m—efy @ n &
@ =vOaAl & el W S &)l -
(i) T =y (i) 3T B

(iii) Yoirra =g (iv) ITTFIE =g
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Choose the correct answer-

(A)

(B)

(C)

(D)
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Owner of the goods consigned is-

(i) Consignor | (ii) Consignee

(i11) Purchaser (iv) Agency

In the absence of partnership deed the profit and losses are shared-
(1)  In capital ratio (1) In Sacrificing ratio

(1) Equally (iv) In Income generated ratio

What would be the annual rate of interest if payable amount is not paid

to the dead partner's legal Executor ?

(1) 10% (1) 3%

(i11) 6% (iv) 7%
Undistributed losses and reserves are transferred to-
(1) Cash Account (i1) Bank Account

(1) Capital Account of Partners  (iv) Profit & Loss A/c

(E) The amount of discount on issue of debenture is-
(1) Capital Loss (ii) Revenue Loss
(it1) Capital expenditure (iv) Revenue expenditure
T / Fwey fafee— a2zSUBJCTS.COM [1x5=5]
@) e B o R B R o §
@) EEN B &1 9ol sfed = 8|

(®)
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A, BalR C wae 321 & wEieR &1 B fige &1 81 A 91 C &1 714
IURT 3:2 BN |

3 (P.T.0.)

www.a2zsubjects.com

wod's)fqnszze mmm

wod's3fgnszze mmm



wod's)dfgnszze-mmm

wod's3Rfgnszze mmm

3)

www.a2zsubjects.com

www.a2zsubjects.com

www.a2zsubjects.com

http://www.a2zsubjects.com

J \
a2zSUBJCTS.COM A-439 (E/H)

@ w9 % RueT ® IRl &) g T e 3 @ F We far s
gl

@) =orEr o ues fiffew w® fFar o gwar 2
Write Tme/f;;lise.

(A) Consignee is given commission on profit.

(B) Registration of partnership is not compulsory.

(C) A, B and C are partners in 3:2:1 respectively B retires. The new ratio of
A and C will be 3:2

(D) On dissolution, payment made to creditors is debited to Realisation

Account.
(E) Debentures can be redeemed on premium.
R T A e B
&) YT G ... BT G)T B

@ G P ... SRR ¥ 99 9 & gRadT )

a2zSUBJCTS.COM [1x5=5]

Fill in the blanks-
(A) Consignment A/c is a ............ A/c.

(B) ....... of a partnership is a change in relationship among the
partnership.

(C) Decrease in liability is firm's............
(D) After dissolution of the firm, partner can transact their own .........

(E) Debenture holders have no right to take part in the ........ of company.
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T I /99 ¥ IR Sfie— a2zSUBJCTS.COM [1x5=5]
@) Y9 W P IR T Sar 87
@) w=fy f&a yer & Tufa 87
(6) Fa 9eeR B T @9 o1 Jrar & fear omar 87
@) e @A B9 QT S 87
@) <rdereiE ®ol & g R o wEan 81
Answer in one word / sentence.
(A) Which Act is applicable on consignment?
(B) Which type of asset is goodwill?
(C) In whom the amount payable to deceased partner is paid.
(D) When Realisation Account is opened?
({E) Document Issued for long term loan are called.
|E Shfedt aagd- [1x5=5]
< q
(@) e () wRrer
(@) = @ (i) ¥ ¥ =
@) (iil) TN P TR
®) e Tfdw (iv) Suor g ¥ wftnfera w18
(@ o (v) v Eof mm
a2zSUBJCTS.COM (vi) GoRT v
Match the Column
A B
(A) Godown Rent (i) Reputation
(B) Current Account (ii) Loan from Bank
(C) Goodwill (iii) Creditor of company
5 (P.T.O.)
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(D) External Liability (iv) Not included in consignment stock

(E) Debenture holder (v) Fixed capital A/c
(vi) Secured Loan
FOMA F THR feafag | (@ 9R) [2]
Write the types of Debentures. (Any Four)
srar/ OR
FOOA & e B At ffag | @€ Q)

Write the methods of redemption of debentures. (Any 2)

faca faveor & Syl & M Ta13Y? (@1E 2) [2]
State the Name of different tools of Financial Analysis. (Any 2) L

Ferar / OR
I8 T A P AT B TR T Ha 87

How would you find out the cost of goods sold?

e aEht srafer T 27 [2]

What is Average collection period?

2z2SUBJCTS.COM arerar/ OR

facirg Ravel & e ¥ ur e 87

What is meant by Analysis of Financial Statement?
T, TIfEl § P W 72 aftafea # o 3?7 (@ WR) [2]
Which items are included in current liabilities. (Any four)

Far/OR

T, FTa A = Wl & w®n afmrg 27

What is meant by current assets in current ratio?
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facira fpamell &7 ey &7

What is meant by financing Activities?

R AFs 72 Fq7 87

What are Non cash items?

qEER & e iR 9EeR v ¢ ues § amx faRag?

a2zSUBJCTS.COM
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(2]

[3]

Write the difference between the dissolution of partnership and partnership

firm.

Alc.

ear / OR
BH & FAOT W DD W G Gl S 87 a9l W Bl TAIEg?

Which Accounts are opened on the dissolution of firm. Explain Realisation

B8 a1 IR & falay, foms srarta <marey o & fRues &1 sty

TP 87

' (3]

Write any three circumstances under which court can order dissolution of

the firm.
a2zSUBJCTS.COM

Far/ OR
ATAT B U% B4 ¥ 311 & UG A WIHICR § | 31 9E 2008 P IS g

ot TeR 21
forgt
‘ TR @9 Ffe &
| IER 45,0000 IR 20,000
A w1 20,000 fafder wwafit 70,000
ECIRE

| A—10,000
' B 15,000 25,000

90,000 90,000
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I8 I35 Y & o4 & Ruca o1 Fiofg fvar| TR ¥ 15.000 & aor
fafeer w=afodl | 60,000 © a%e 8¢ | a9 @@ TEY?

A and B are partners in a firm sharing profit & losses in the ratio of 3:1.

Their Balance sheet on 31 Dec 2008 stood as under:-

Balance Sheet

Liabilities Amount Assets Amount
Creditors 45,000 Debtors 20,000
A's loan ;. 20,000 Sundry Assets 70,000
Capital - |
A - 10,000 ‘l

IB-15000 |  25.000
r 90,000 90,000

They decided to dissolve tlhe firm on that date. From Debtors realised
Rs. 15,000 and sundry assets realised Rs. 60,000.

Prepare Realisation Account.
AT I B HE A R & fakag? (3]

Write any three characteristics of equity shares.

a2zSUBJCTS.COM arerar / OR

fra fofdids 5 10 & arer 15,000, 12% EIRBR I o=ar F FArifa 53
ot I v ged w8 uE | St fafite B et § qea wfiedt
ST |

Dixit Ltd. have issued 12% 15,000 Preference shares of Rs. 10 each to the

public. All amount is received in lump-sum. Pass the necessary journal

entries.
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Ry afrer =T €7 B [3]
What is over-subscription?
Jgar/ OR o
Y9 & U 10 © A 25 T oW 3, fored @ vE 2 © e 9 & Ry,

AT AEeT B 3 F AR WRF AT D 2 ® 98 6l < GH| WATd F FUH
AT F q1E 9T BT BT o9 ford | IO B RO ¥ ORI T wiafe S|

Manan was holding 25 equity shares of Rs. 10 each on which he paid Rs. 2
on application but could not pay Rs. 3 on allotment and Rs. 2 on first call.
Director forfeited the shares after first call. Give journal entry for recording

the forfeiture of shares.

wr $of wrer o uRadeeiie §of @ 9 e qaise? (4]

Differentiate between fixed capital account and fluctuating capital A/c?
Fear/ OR

P.Q,R 9EER & | ¥ 981 221 & Iurd ¥ dfed §1 3 WRASRI 9 R
T amvare f2ar 2 5 S0 o9 ¥ B9 14,400 © 19 I@vg & Ao T o
BT Y& A 68,400 © & | AW—aA Fdie @ iEg?

P, Q, R are pariners sharing profit and losses in the ratio of 2:2:1. R's. share
is however guaranteed by the other partners at minimum profit of Rs. 14,400,
The net profit for the current year amount to Rs. 68,400. Prepare profit &
Loss Appropriation A/c. a2zSUBJCTS.COM

39 Ja WY ¥ IR R HIe? [4]
Explain the difference between shares and stock.

e/ OR

9 (P.T.0.)
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Rfde o1, ¥ 20,000 T AW WS 20 T BT 10% DA TR TS
oY AT T i 5 | Wt R ameT w 2 off | w st ¥ fre
ST UF T 8V | T & AaWF o A

Arvind Ltd. invited application for issuing 20,000 equity shares of Rs. 20
each at a premium of 10%. The whole amount was payable on application.

The 1ssue was fully subscribed. Pass the necessary journal entries.
9T B gR R{Pdwan Rifkeg? [4]
Write four characteristics of Debentures.

a2zSUBJCTS.COM g1 /OR

3x1q fafdcs 7 2400, 15% Fo9x TRAF 100 T FT FTHT 10% Hifvas @
1owm4%aﬁﬁwwdﬁﬁvﬁaﬁmmmﬁ,m&m
N 3 IaE wfafkedr Q|

Amav Limited issued 2400, 15% debentures of Rs. 100 each at per and

redeemable at 10% premium by issue of equity shares of Rs. 10 each at 4%

discount. Show journal entries for redemption.

IR Jq FoaAr F R e &7 | [4]

What is the difference between a shareholder and a Debenture holder.
a2zSUBJCTS.COM soraT / OR

ad Rard 7 3 100 BT A 1600, 12% FO9F 10% s W fffg
| s 1R 30 B T Ay EveT W Ay o |

U B TS F AEd S gt #ifvg

M/s Tiwari company issued 1600, 12% debenture of Rs. 100 each at a

discount of 10% payable. Rs. 30 on application and balance on allotment.

Pass the necessary journal entries in the books of company.
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], I TAT AR U A <R qATEA? [4]
Differentiate between current Ratio and Liquid Ratio.
3eEr/ OR

PrefaRa faaxot § 31 W 2008 U9 31 #TE 2008 H FAG I &G JAANAD
I faaRer FIRg-

faa=or ' 2008 2000 |
fashr 80,000 1,00,000 }
ﬁaﬁfﬂﬁnﬁmﬁaﬂm%ﬁaﬁwso% R BT 60% |
S T Be M Bl 10% iwmmw%"{
HIHR P! & | 50% | 60%

Prepare comparative Income Statement from the following particulars for

the year ended 31* March 2008 and 31* March 2009.

Particulars 2008 2009
Sales 80,000 1,00,000
Cost of goods sold "60% of sales 60% of Sales |
| Indirect expenses 10% of Gross Profit | 15% of Gross Proﬁth
' Income Tax Rate | 50% 60%
a2zSUBJCTS.COM
AFE UG8 3901 U HIY yarE fFavor # R saqgd | (3% IR) [4]

Explain the difference between cash flow statement and fund flow statement.

(any four)

3rerar / OR
ﬁ.T;q W @' i Ikl |B§ﬂ|3|l|' -\q' '\;Iaig Udls B IO amalq_
31.3.07 31.3.08
ATI—ET 1T 1,20,000 1,10,000
11 (P.T.0.
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TTER , 62,000 . . - 50,000
v fHmE. 0 o 42000 - 24000 .-
ESECU L SR 4,000 8,000
AR __ 38,000 26,000
> ey 76,000 80,000 g
§', Calculate cash flow from operating activities from the following %
N informations. a2zSUBJCTS.COM =
% | 31.3.07 | 31.03.08 "Ef
Z Profit & Loss A/c 120,000 1,10,000 4
§ Debtors | 62,000 50,000 3
-Eutstanding Rent 42.000 24,000
Prepaid Insurance 4,000 8,000
Creditors 38,000 26,000
Goodwill 76,000 80,000
21) XA O AT 1956 F ITia-BUR F AE TAM B e T
wrgET 87 Wa ¥ faRked | [4]
Write in brief the provisions regarding payment of Dividend of a company
é under Indian Companies Act 1956. g
§, a2zSUBJCTS.COM et/ OR %
£ RI5S Ve R T B B AR ST S g
® =
% Explain any four uses of preparing cash flow statement. g
g =

22) Y9r g famy ¥ aroR wameg? [5]
Differentiate between consignment and sale.

gar/ OR

12
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X 6000 & T BT YU Y BT Horn ¥ 3R S W 4500 © &1 (@ e Al
afyr & forg fraar 21 X ¥ Rmar iR €97 o % 500 % =T BT B |

Y 300 ® GR—a% X I Al GO A B | T8 I A 4500 F F SR
YT 2 SR Yy BT AT 2200 © F THE AW AGE | Y T A W 5% AR
JUR W 2% IR FHE 9 o7 AfREr 2

U9 A 8 F YUY FIaT TS |

X sends goods on consignment Worth Rs. 6000 to Y, drawing on Bill
for Rs.4500 as an advance against the same. X pays Rs. 500 for freight and
insurance etc. Y clears the goods paying Rs. 300 for duty etc. He sells half
the goods on credit for Rs. 4500 and half of the remaining is sold for Rs.
2200 on cash. Y is entitled to remuneration of 5% on sales and 2% del-

credere on credit sales.

Prepare consignment A/c in the books of consignor.

ety ¥ S ¥ RO TR | [5]

State the causes of origin of goodwill. a2zSUBJCTS.COM

Fgar/ OR

@ AR ¥ 40,000 © Yot o W 2| g® g A war } 6 TW gOR
¥ =R § 3a A 10% BT | =R & df a6l a1 Ea d 8000 ®

i

Moo daal sl s FHI S
TR B, a1 Ty &1 e aaed |

The capital invested in a business is Rs. 40,000. It is estimated that such
a business yields an average of 10% P.A. The average profit for the last five

years is Rs. 8000.

13 (P.T.O.)
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Find out the value of Goodwill if it is valued at three years purchase of

the average super profit of the last five years.

AT B9 # Y WRERR ¥ WY N AEwesa [ e & I o SR
fora? 5]
' 5
Why is the need of admitting a new partner in an existing firm? Give five é
reasons? %
=
a2zSUBJCTS.COM  smar/OR T
oY, 7 9§ 9ER UF BH § WIRER 21 A9 a-gif 123 & Igua 2
dfcd 81 31 R 2007 &1 91 RIgT 39 TR 91— ?
fogr
1 T WH | §Wha | X@W
J_‘iﬁﬁ ‘ ECE| . 80,
J WTG—24,000 | ‘ 15 S [
| 7AIw-20,000 ¥R 0
| 318,000 so.oocl s T
T HEy 18,000 | L
AER 22,000 | Z
| N
1,00,000 | 100,000 g
a2zSUBJCTS.COM s
@R A 1 TEN 2008 B IS T FAT| BH B =Y 30,000 F A TE é’
) Y=R P A W AN AR P O W A ewiaRa HR) 9w Ao S

Y ARl ¥ o @ =gy |

Sanjay, Manoj and Shekhar are partners in a firm. They share profit & loss

in the ratio of 1:2:3. Their Balance sheet on 31* Dec. 2007 is as under.

14
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o Balﬁnce Sheet :
Liabilities | Amounti. Assets | Amount
Capital | iBui]ding_ | 60.000
Sanjay - 24,000  Fumniture 16,000
Malnoj - '20,0'00 _ - ; Debtors ‘ 20000!
Shekhar — 16,000 - 60,000 Cash L 4,000
| General Reserve 18_.00(‘#: | '
Creditors 22,00q - ‘i " ;
1.00,0{)@_— R "Iﬁofo"oﬁz

On 1* Jan 2008 Shekhar retired. The Goodwill of the firm was valued at
Rs.30,000. The amount payable to Shekhar be transferred to his loan

Account. Prepare _partners Capital Account.
25) T o ot & AT W8T ¥ |agee? (@8 d9hh) [5]

Explain in brief the kinds of capital of a company. (Any five)

a2zSUBJCTS.COM  ¥a@/OR
Rfte faffes A & sivemd & 10 % a1 Qof aifad 30 ofE &1 o & fomm |
IR FIEFTHA F 3T AAIT AN RA Y, AP seecT $ 4 § Gq
i aree T 3 ® UfY W T wHT| A I fvma I 10 © Uy W F
Ifra g W T Prifg ax R T o $ wor R gAReET #ouel
gfafiedt Ifog |

Ritik Ltd. forfeited 30 shares of Rs. 10 each fully called up heid by a
Shareholder for non-payment of allotment money Rs. 4 per share and final
call of Rs. 3 per share. He has paid the application money of Rs. 3 per share.
These shares were re-issﬁed to Nischal for its face value Rs. 10 each. Give

journal entries for the forfeiture and re-issue of shares.

15 (P.T.0.)
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26) I8 R e & oo fafee? (5]

Write the elements of good financial statement?

a2zSUBJCTS.COM  aem@Er/OR

Prefrfe Wt @1 R ¥ Rufy fawor § R AT & ol v o 2
2 £
(i) =afy (i) s s E
(iii) B¥ ¥ R o (iv) wiRmfr S %
(v) Br R 3

Under what headings the following items are shown in the Balance Sheet of

the company.
(i) Goodwill (1) Unclaimed dividend
(iii) Provision for tax (iv) Securities Premium A/c

(v) Loose tools

skl e e e ofe e e oke

a2zSUBJCTS.COM
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